Nom, prénom :

/20

Multiplications par 10, 100, 1000 

5 x 100 =

     1,9 x 10 = 


2,08 x              = 2080                     
x 10 =190         

21 x 100 =

     0, 05 x 10 = 

0,3682 x          = 36,82                   
x 10 = 1400

3 x 1000 =

     0, 98 x 1000 =

78,87 x           = 788,7                       
x 100 = 453,2

0,42 x 1000 =
 
     1,85 x 10 =


9,58 x             =  9580                        x 1000 =2080

171  x 100 =

     36, 87 x 10 = 

8,36 x             =   83,6                    
x 100   = 36
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